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PHILOSOPHY

( Honours Generic/Regular Course )

( Logic )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks '
for the questions

1. Answer the following as directed : 1x10=10
afeRerre fotrRm Tee i :

(a) Truth or falsity is a property of
term/proposition/argument.
( Choose the correct answer )

FeTe! q1 SPTEe] (0T /A6 /e 4 |
(= Teaco! My Tferear )

(b) An argument has one premise/two
premises/no fixed number of premises.
{ Choose the correct answer )
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(2) (3)

(g9 BAROCO is a valid syllogism/immediate

inference/distributed term.
( Choose the correct answer )

BAROCO «B (3¢ <O /SIGs Syl /e
% |

<1 T Bl W T A/ e T
A /S o1 1At TS i 2 |

( o= Taachr 91f% e )

(c) \;’lalidity of an argument is concerned with
the form of an argument/content of an

argument/both form and content of the
argument.

( wa TecH e Sfeie )

( Choose the correct answer ) (h) State any one general rule of a categorical

e taget e waRe 7S /YR Ragams syllogism.
=99
;*ﬂl%ﬂwwwmwm G Fraers e R e @b e R
: TrEd o401
(o= T TR Tferear )
(d) State one point of difference between (i) What do the ideograms stand for?
;CdUCtiVC and inductive inference. yRTEeR B2 & For 97
T E R SEE WG < A _
O 9 | Under what condition, an equivalent
(e) Giv . function becomes true?
(3 an example of particular negative
proposition. % 76T Bl FTNAF FoA O B ?
the positi 0f a syllogism is determined by e NeBAnswer briclly
position of the _ term. F T
. ( Fill in the blank ) (a) Define argument with example.
—— T R sie e sk fide '
A | SrierTe IR e fira |
24A Skt
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(b)

(c)

(d)

(e)

(4)
Reduce the following sentences into
proper logical propositions and mark them
as A,E, I, O:

O RG] TRATIS o] FoTIq 91 S
A, E, I, O foricg fofze 31 -

(i) All students
intelligent.

e R sc i wwem |
(ii) Virtuous alone are happy.

@ Qe Fheer 3R |

are  not equally

State any two rules of conversion.

Write two utilities of the uses of symbols. \ '
AP R BT Soicrrer ey | ;

Define logical constants with examples.

SRR S SRR et i

3. Answer the following questions (any four) : 5x4=20

e 2= S fon (R oo wifde)

(a)

24A/753

Explain the relation between the validity
or invalidity of an argument and truth or
falsehood of its premises and conclusion.
T el a1 wearor wpre SRR @
P sTeret 21 wprorer e <y < |

( Continued )

(b)

(c)

(d)

(e)

24A/753

(S)

Write a short note on square of opposition
of proposition.

To7a TR FofCspq AT BT B (Bt forei |

Distinguish between figure and mood of
syllogism.
TR RE SE T e ALy el 41

What is simple proposition according to
modern classification of proposition?
Define each of the different forms of simple
proposition with example. 1+4=5

[ PR IS S e I
@7 TR ore Rfew dee e
TP e Ak

Symbolize the following propositions : ~ 1x5=3

oo Ty ToPTE ASIPIE TS ERI :
(i) Tt is not that Hari is honest.
3BT 9T T @ R R

(ii) Either Rakesh is intelligent or he is
honest.
=7 I AT WL (O R |

(iii) If you read attentively, then you will
succeed in the examination.
i S AT =0l (SR o
e A
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4. Answer the following questions :

24A/753

(6)

(iv) The weather is not good but Rita
goes for a walk.

o9 oI 72 58 e FhRate |

(v) 1t is false that the field is muddy and
wet.

G201 R @ AR @I i o |
(f) What is categorical proposition? What are

the  different types of
proposition? Explain.

categorical

s o7 I @i ? e R fifen
TR % 5, T 4 |

FafeiRe epme Teg fn

(a) Define syllogism with example. Explain its
characteristics.

TR, RR Ae@ fn ) AREPTE
T 3541 |

Or/1331

What is immediate inference? Explain

obversion with rules as a kind of immediate
inference.

S S I Q@ 9 SR S 2T
WWWWWW|

1+4=5

10x4=40

2+8=10

2+4+4=10

( Continued )

(b)

(c)
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(7)

What is symbolic logic? Discuss the

characteristics of symbolic logic. 4+6=10
ABTNT SIREM I QAT AP
S BRI SICEol 41 |

Or/ #1231
Discuss the relation between symbolic logic
and classical logic. 10
AT SHREA S ATANNS ST
Ierq o SCes 1 |

Define proposition according to modern
logic. Explain different types of compound
propositions with example. 2+8=10

syl R SR o TiRE
Treaere. RfSn ooRT Cfe IoPTR IR
341 |

Or/ 331

What is truth-function? What are the basic

truth-functions? Explain each of them.
2+2+6=10

oy o T @7 R TR
5 aifich TorFaR ORI I
y five of the

an
uct truth table for
o forms  and

pmpositional

following |
] autology,
determine  whether it 15 tau %}; g
contradictory Ot contingent : 2
{ Turmn Qver)




(8)

oo il e W | /& @
Ao TG O o T AE CRTE
FoTe), FoNA 1 wFFE TWRRE, ey
ES1E

(i) p>(pvq)

(i) (p-q)Dp

(iii) (p-q)-(pVvq)

(iv) (pvq)-(~p-~q)

(v)] ~[p>(pvq)]

(vi) p:(~pvq)
Or/7131

What is indirect or shorter-truth table
method? Discuss the method of proving
validity or invalidity of argument by
shorter-truth table method. 10

T Y -l s wE Qe ? 7Y

TTo-Sifer <1 T e xeet A1 WK
S “STHT T 54y |
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